
Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the slides and writing them in your notebook.
- Looking at them as little as possible, answer the questions.

Please write WEEK  8 in bold at the beginning of your answers.

I.The MP rule proposed by Friedman: stationary ec.
1.What’s the objective of MP?

2. a) What is the velocity of money?

b) How is it measured?

3.a) What is the relation between Ms and V, on the one hand, and the nominal value of aggregate demand, on the other? Explain with a numerical example.

b) Why must Ms.V be necessarily equal to the nominal value of output sold? Explain with a numerical example.

4. Compare Keynes’ view of AD with that of M. Friedman (the leader of monetarism).

5. How is MP performed according to the Keynesian view?

6. How should MP be performed according to M. Friedman?

7. If velocity is constant, MP performed according to the Keynesian and monetarist views ends up the same. Do you agree? Explain.
8. If velocity is variable, MP performed according to the Keynesian and monetarist views ends up the same. Do you agree? Explain.
II. The MP rule proposed by Friedman: economy with growth
9. What is the growth rate of nominal aggregate demand if Ms grows by 2% and V rises by 3%? Explain.

10. What is the growth rate of nominal aggregate output if prices rise by 1% and real output increases by 4%? Explain.

11. Suppose V is constant and consider an economy with a production capacity growing at a constant rate of 2%. Start at full-capacity.

a) If Ms afterward rises by 2%, what will happen to P, real output and unemployment according to Friedman? Explain.

b) If the CB’s inflation target is 5%, what should the CB do according to Friedman? Explain.

c) The CB does not control money growth by decree. How does it then control   money growth? Explain.

12. Explain what causes inflation according to Friedman.
13. Friedman’s explanation for inflation is wrong. How do we know this?

14. Is it possible to base Friedman’s theory of inflation on a sound theory of inflation? Explain
III. Problems with Friedman’s MP rule.

15. Under which circumstances may the CB be unable to control money growth? Explain.

16. Friedman’s rule tends to lead to large variations in interest rates. Why?

17. Consider an economy with a production capacity growing at a constant rate of 2%. Start at full-capacity and with an inflation rate of 2%. Suppose that in the following year the CB holds money growth constant at 4%. What’ll happen to P, real output and unemployment if V drops by 1% and:


a) Any decline in output below capacity – however small - leads to an immediate drop in inflation? Explain.


b) Inflation has absolute inertia?  Explain.

IV. Is V constant?

18. Intuition tells us that the velocity of money should be constant in the short to the medium term. Why?
19. Why does a custom of weekly wage payments lead to a higher velocity of money than a custom of monthly wage payments?
20. Is V constant in the short-term?
21. Was the Fed’s MP in 1980-2 successful?

22. The MP ECB rests on two pillars. One is the maintenance of money growth close to 4.5%. Do you agree? Explain.
23. Describe the behaviour of US velocity since 1959.
24. a) “The holding of idle money is inversely related to the level of interest rates.” Do you agree? Explain.

b) “V is directly related to the level of interest rates.” Do you agree? Explain.
25. The interest-rate based explanation for V is valid for some periods but not others. Do you agree? Explain.
26. “The V associated with current consumption expenditures is low.” Do you agree? Explain.

27. “The V associated with durable consumption and investment expenditures is low.” Do you agree? Explain both when these expenditures are based on credit and when they are based on internal finance.

28. What is the key reason why synchronization between the moment money is attained and the moment expenditures are made takes place in the case of investment goods and durable consumption goods, but not in the case of current consumption?

29. a) According to the 1st explanation of velocity given in the lecture, what should have been the effect of the rise in interest rates in the early 1980s on the velocity of money? Explain.

b) What was the actual effect of those very high interest rates on the velocity of money? Why did that happen?

30. Why does the velocity of money move pro-cyclically?
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